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4. MeToau4Hi BKa3iBKH 10 caMOCTIiHHOI poboTHn
Po3aia 3. Exonomika
Tema 1. Podora 3 TexcToMm: «Needs, Wants and Demand».

Exercise 1. Learn the following words and word combinations.

requirement — BUMOTa

acceptance — CXBaJICHHSI, TPUXHIIbHICTD
accomplishment — mocsrHeHHs, ycmix
means — 3acib

survival — BWKUBaHHS

willingness — TOTOBHICTb

EXxercise 2. Read, translate and give the gist of text 1.

Text 1. Needs, Wants and Demand

Economics like any other social science has its own vocabulary. To understand
economics, a review of some key terms is necessary: needs, wants, and demand.

A need is a basic requirement for survival. People have basic needs such as food, clothing
and shelter. People also have higher level needs, such as communication, love, acceptance,
knowledge, hope and accomplishment.

A want is a means of expressing a need. Food, for example, is a basic need related to
survival. To satisfy this need, a person may want a pizza, hamburger or other favourite food.
That is there is any number of foods that will satisfy the basic need for food.

The point is that the range of things represented by the term “want” is much broader than
those represented by the term “need”.

Sometimes the difference between a want and a need is clear, at other times, it is not.

A basic need is reflected in a want for a particular product. A want cannot be counted in
the marketplace until it becomes a demand — the willingness and ability to purchase a desired
object.

Exercise 3. Give English equivalents.
CycnisibHa Hayka, OCHOBHI TepMiHHW, Oa’kaHHs, IOMUT, BUMOTra, OCHOBHI MOTpedH,
CTIKYBaHHS, MPUXWIBHICTD, HA/ISI, TOCATHEHHS, OakaHa pid, 3aI0BOJIbHSATH MOTPeOu.

IMuTanHga aas CAMOKOHTPOJIIO:
1. BuBuuTH C10Ba 32 TEMOIO.
2. IMepexnan Texcty: «Needs, Wants and Demand».

Tema 2. Jlexcuko-rpaMaTH4Hi BIPABH 32 TEMOIO

IMuTanHa aas CAMOKOHTPOJIIO:
1. BukoHaTu BpaBy 3a TEMOIO MUCBMOBO.

LExercise 4. Complete the sentences according to text 1.
1. Aneedis ... . 2. People have basic needs such as ... . 3. A wantis ... . 4. A basic need
is reflectedin ... . 5. A demand is... .



EXxercise 5. Match the terms on the left with the definitions on the right.

Term Definition
1. want a) the state or fact of continuing to live or
2. need exist, typically in spite of an accident,
3. demand ordeal, or difficult circumstances.
4. survival b) acquire (something) by paying for it;
5. acceptance buy
6. satisfy ¢) adesire for something.
7. purchase d) approval or favorable regard.

e) circumstances in which something is
necessary; necessity.

f) fulfill (a desire or need).

g) the desire of consumers, clients,
employers, etc. for a particular
commodity, service, or other item.

EXxercise 6. Translate the phrases into Ukrainian paying attention to different meanings of
the words want, need and demand.

Physical need; satisfy a need; basic human need for food; to live in need; for need of; to
need badly; you needn't shout; for / from want of something; to be in (no) want of something; to
supply (anticipate, consult, provide for) one's wants; to come to want; to want something badly /
desperately / very much; her hair wants cutting; my wants are few; to be wanted by the police;
demand for higher pay; to demand higher pay; to make demands; on demand, the law of supply
and demand; to meet / satisfy consumers' demand; to be in demand.

EXxercise 7. Translate into English.

1. ITotpeba - e OCHOBHa BUMOTra IJIsl BHOKUBaHH:. 2. JIFonu MaroTh OCHOBHI NOTpeOH,
Takl K 1xka, omsar Ta JKUTIO. 3. CHiIKyBaHHS, KOXaHHS, MPUXWIbHICTh, MI3HAHHS, HAAIS Ta
TOOCSITHEHHsST - 1€ JIIOJACHKI moTpedu BHIIOro raryHKy. 4. bakanHs - me 3aci0 BHUpaskeHHS
notpedu. 5. ITonuT - 11e TOTOBHICTH Ta 34ATHICTb KYITUTH OakaHy pid.

Tema 3. IlucbmoBuii nepexiiaa Tekcry: «Goods and Servises».
Jlekcuko-rpaMaTH4Hi BIPAaBH 32 TEMOIO
IMuTanHga aas CAMOKOHTPOJIIO:
1. BukoHaTu nepekan TEKCTy

2. BUKOHAaTH MUCBMOBO JIEKCHKO — I'paMaTH4HI BIIpaBH A0 Tekcty (9., ¢. c. 74 -80)

Exercise 1. Learn the following words and word combinations.

tangible = — BIIUyTHHI HA TOTUK, MaTeplATbHUIA
nutrient ~ — MOXKUBHA PEUYOBUHA

deplete — BHCHAXXyBaTH, BUYEPIyBaTH

enhance  — MOJIMINYBATH, TOCHIIFOBATH

intangible - HeBigUYTHMI Ha JOTUK, HEMaTePiATbHUN
utilize - BUKOPUCTOBYBaTU

EXxercise 2. Read, translate and give the gist of text 3.

Text 3. Goods and Services
It takes land, labour, and capital that are used by an entrepreneur to produce goods and
services that will ultimately be used to satisfy our wants. Goods are tangible, meaning they are



something that can be seen or touched. The production of goods requires using limited resources
to produce in order to satisfy wants. An example might be a farmer who grows grain. The farmer
uses farm equipment manufactured from resources; ground is a natural resource that is used to
grow the grain; and because the growth of grain depletes the nutrients in the soil, the farmer must
use fertilizers to restore the nutrients. Limited resources are used to produce natural or chemical
fertilizers, but they are necessary for crop production. Water might be used to irrigate the crop
and enhance production. When the crop is ready for harvest, the farmer uses additional resources
to complete the process - equipment, gasoline, labour, and so on - which results in a good that
can be used or sold for use by others.

Services are provided in numerous ways and are an intangible activity. There is no doubt
that one can often see someone providing a service, but the service is not something that
someone can pick up and take home to use. An example of a service is a ride in a taxi through a
crowded city. It takes resources for the owner or driver to provide the service, and a passenger is
consciously aware of riding in a taxi. When the ride is completed and the provider has been paid,
the passenger does not have anything tangible to hold except the receipt. However, resources
have been used to provide the service. The automobile used as the cab, the fuel used to operate
the cab, and the labour of the driver are all examples of resources being used to provide a service
that will satisfy a want.

It is important to understand that because goods and services utilize resources that are
limited, goods and services are also scarce. Scarcity results when the demand for a good or
service is greater than its supply. Remember that society has unlimited wants but scarce
resources. It is scarcity, then, that causes consumers to have to make choices. If individuals
cannot have everything they want, they must decide which of the goods and services are most
important and which they can do without.

LExercise 3. Give English equivalents.

3an0BONBHATH Oa)kaHHS, MaTeplajbHUH, HeMaTeplalbHUi, BUPOOHULTBO TOBAPIB,
oOnagHaHHS, BHUYEPIYBATH TOXKMBHI PEYOBHHH, [IOOpHMBA, BIJHOBIIOBATH, 3pPOIIYBATH,
MOKpAINyBaTH, HAZABATH MOCIYTY, KBUTAHLIS, TaJIbHE, BUKOPHUCTOBYBATH.

Exercise 4. Answer the questions on text 3.

1. What does an entrepreneur use to produce goods and services? 2. What does the word
“tangible” mean? 3. What does the production of goods require? 4. Why are services intangible?
5. Why are goods and services scarce? 6. What causes consumers to make choices?

Exercise 5. Match terms on the left with the definitions on the right.

Term Definition

1. goods a) perceptible by touch

2. services b) make available for use

3. tangible c) the desire of consumers, Cclients,
employers, etc. for a particular
commodity, service, or other item

4. intangible d) things that are made to be sold

5. supply e) unable to be touched or grasped; not
having physical presence

6. demand f) the amount of a good or service offered
for sale

7. provide g) the action of helping or doing work for

someone






EXxercise 4. Put 4 types of questions to the sentence.
Policy makers are concerned with price stability and the inflation rate.

Exercise 6. Analyze the -ing form.

1. Famous for its Windows operating system, Microsoft is the world’s Nel software company.
2. Stop trying to make the company expand. 3. A three-day weekend will reduce the factory’s
heating costs. 4. Stability is achieved by avoiding or limiting fluctuations in production,
employment, and prices. 5. Maintaining stability is beneficial because it means uncertainty and
disruptions in the economy are avoided. 6. Economic growth is achieved by increasing the
economy's ability to produce goods and services. 7. With economic growth, society gets more
goods that can be used to satisfy more wants and needs-people are better off; living standards
rise; and scarcity is less of a problem

Tema 5. Jlekcuko-rpamaTuyHi Bnpasu 3a Temoro «Business Cycle»
IMuTanHa A CAMOKOHTPOJIIO:
1. ITpounTatu TekcT : «Business Cycle» BunmcaTs i BUBUMTU HOBY JIEKCHKY.
2. BUKOHATH JIGKCUKO — TPAMaTH4HI BIIPABU 10 TEKCTY

EXxercise 1. Learn the words and phrases from the text.

gross domestic product

BAJIOBUI BHYTPIIHI A POIYKT

trough — HaMHWXKYA TOYKA, THO
recovery —  BIJTHOBJICHHS, ITi JHOM
output — TPOAYKLIS, BUITYCK

EXxercise 2. Read, translate and give the gist of text 5.

Text S. Business Cycles

Business cycles are more-or-less-regular fluctuations in the level of economic activity.
These are the up and down phases that accompany the increases or decreases in gross domestic
product. Each business cycle goes through four phases: peak, recession, trough, and recovery.
These are positions on the cycle and indicate the level of income, output, and employment.
Figure 2 is a business cycle with the phases identified. The peak is the highest point; the
declining period is the recession. A deeper, longer recession is sometimes called a depression.
The trough is the lowest point and recovery is the upwards wing. Although all business cycles
follow the same pattern of peak, recession, troughs, and recovery, not all cycles are the same.
Some peaks are higher than others, some recessions are longer and more severe, and other
variations occur from cycle to cycle. The lower portions of the cycle are usually accompanied by
high rates of unemployment. Yet upward movements on the business cycle that reduce
unemployment may result in increased inflation. The term unemployment is frequently used in
macroeconomics. Unemployment means that there are people looking for a job but are unable to
find work at the going wage. There may be work available that they are not trained to do, or
there may be work available in other areas of the country. But these people cannot find work that
they are capable of doing, that would not require relocating, or that would pay a wage they are
willing to accept.









some 230 airlines - the worlds leading passenger and cargo airlines among them - representing
93 percent of scheduled international air traffic.

IATA seeks to improve understanding of the industry among decision makers and
increase awareness of the benefits that aviation brings to national and global economies. It fights
for the interests of airlines across the globe.

IATA’s aim is to help airlines help themselves by simplifying processes and increasing
passenger convenience while reducing costs and improving efficiency. Safety is IATA’s number
one priority, and IATA’s goal is to continually improve safety standards. Another main concern
is to minimize the impact of air transport on environment.

IATA ensures that people and goods can move around the global airline network as
easily as if they were on a single airline in a single country. In addition, it provides essential
professional support to all industry stakeholders with a wide range of products and expert
services, such as publications, training and consulting. IATA’s financial systems also help
carriers and the travel industry maximize revenues.

For consumers, IATA simplifies the travel and shipping processes, while keeping costs
down. Passengers can make one telephone call to reserve a ticket, pay in one currency and then
use the ticket on several airlines in several countries.

IATA allows airlines to operate safely, securely, efficiently and economically under
clearly defined rules.

IATA serves as an intermediary between airlines and passenger as well as cargo agents
via neutrally applied agency service standards and centralized financial systems.

A large network of industry suppliers and service provides gathered by IATA provides
solid expertise to airlines in a variety of industry solutions.

For governments, IATA seeks to ensure they are well informed about the complexities of
the aviation industry to ensure better, long-term decisions.

IATA’s aims are:

1. To promote safe, regular and economical air transport for the benefit of the peoples of the
world, to foster air commerce, and to study the problems connected therewith;

2. To provide means for collaboration among the air transport enterprises engaged directly
or indirectly in international air transport service;

3. To cooperate with the International Civil Aviation Organization (ICAO - the specialized
United Nations agency for civil aviation) and other international organizations.

Exercise 3. Translate into English.

1.3aBnsaxu poboti IATA nacaxxupu MOXKyTb OPOHIOBATH KBUTOK I10 TeJe(OHY, CIIauyBaTH
B OJHIM BaIOTI, a MOAOPOXyBaTH Mo pizHUM kpainam. 2.JATA Hamae mnepeBarn BCIM
3aliKaBJIEHIM CTOPOHAM: CIIOKMBAYaM, aBlaKOMITAHIsIM, MTOCTaYaIbHUKAM, BAHTAXKHUM areHTam,
ypsinam Tomo. 3.IATA cTBOpuUIIa YiTKO BUSHAYEHI TIPABHJIA 3 YCIX BHUIIB AiSUTBHOCTI B aBiallliHIN
rany3i. 4.Came IATA 3a0e3medye BCi aBTOTPAHCIOPTHI MIANPUEMCTBA 3aco0amMu st
cmiBnpaui.5.JATA HamMaraerbCs MOKPALIUTH B3a€EMOPO3YMIHHS MIK CTPYKTypaMmH, sKi
nocepenHbo abo Oe3nocepenHbo 3any4deHi y cdepy asiarii.

EXxercise 4. Answer the questions on text 7 and speak on IATA using the scheme

1.What does IATA stand for? 2. What industry is one of the most dynamic? 3. What is
IATA’s mission? 4. What/Who are the members of IATA? 5. What does IATA seek? 6. What
does TATA fight for? 7. What are the priorities of IATA? 8. What does IATA provide for
consumers /airlines/ industry suppliers/governments? 9. What are the aims of IATA?



IATA

International Air Transport Association

Year of 1945 in Havana
foundation:
Main document: Montreal, Geneva
Affiliates: more than 200 airlines
The main body | General Annual
Meeting
The executive The Executive
body Committee
Financial Legal Technical Traffic Medical
committee | committee | committee | committee | committee
accounting | thelegal | cooperatio the all
and settle- | ground on | namong commer- | physio-
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ween airli- whole operationa | ties of the | psychologi
nes, structure of 1 and airlines, | cal factors
currency interline technical | exchange | which
and agreement matters of traffic | might
exchange, and between | affect safe-
taxation, | documenta- airlines | ty, comfort
charges, tion is and effici-
insurance, based ency of air
statistics crew and
passengers

Tema 8. IlucbmoBuii nepexaan Tekcry «Airline Operating Costs».
IMuTanHga aas CAMOKOHTPOJIIO:
1. BHBYMUTH HOBI CJIOBA IO TEKCTY

2. TlpounTaTH OrIAAOBO TEKCT 1 3pOOUTH TE3W/TIIIAH TEKCTY

Exercise 1. Learn the following words and word combinations.

artificially — LITYYHO, HEMPUPOIHO
new startups — HOBI ITOYMHAHHS, HOBI CTApTH
hub — BY3JIOBHH aeporopT

operating cost (s)
fixed cost (s)

eKCIUTyaTaliiiHl BUTPAaTH
NOCTIfHI BUTPATH

full service airlines — aBlamHii, mo  3a0e3neuyrTh
MOBHUN KOMILJIEKC
00CITyroByBaHH:

internal cost center — BHYTpILIHIHA KaJIbKY IS THUH
BIALL, 3BITHO-KQJIbKY JISILI HHUH
T APO3 LT

consistent —  TOCIIAOBHUH, CTIWKUH,
BIAIIOBI THUNI

tax collector — TONATKOBUH 1HCHEKTOp, 30mpau

MOATKIB



lessor — OpeHIoIaBelb

player — KOMMaHis, mo Oepe yd4actb y
nepeBe3eHHsIX

new breed — HOBE MOKOJIHHSA

accelerate the demand  — mnpuckoprosaTu noTpedy

eke out — TIOMOBHIOBATH, JOIaBaTH,
3011y BaTH

shakeout — Tmeperpsicka

bankruptcy law — 3aKOH Mpo OaHKPYTCTBO

get rid of smth (smb) — mo30yTHUCS 4OTOCh (KOTOCh)

Exercise 2. Read the text, write a plan of the text in the form of statements.

Text 8. Airline Operating Costs

Full-service airlines have a high level of fixed and operating costs in order to establish and
maintain air services: labor, fuel, airplanes, engines, spares and parts, IT services and networks,
airport equipment, airport handling services, sales distribution, catering, training, aviation
insurance and other costs. Thus all but a small percentage of the income from ticket sales is paid
out to a wide variety of external providers or internal cost centers.

Moreover, the industry is structured so that airlines often act as tax collectors. Airline fuel
is untaxed because of a series of treaties existing between countries. Ticket prices include a
number of fees, taxes and surcharges beyond the control of airlines. Airlines are also responsible
for enforcing government regulations. If airlines carry passengers without proper documentation
on an international flight, they are responsible for returning them back to the original country.

Analysis of the 1992-1996 period shows that every player in the air transport chain is far
more profitable than the airlines, who collect and pass through fees and revenues to them from
ticket sales. While airlines as a whole earned 6% return on capital employed (2-3.5% less than
the cost of capital), airports earned 10%, catering companies 10-13%, handling companies 11-
14%, aircraft lessors 15%, aircraft manufacturers 16%, and global distribution companies more
than 30%. (Source: Spinetta, 2000, quoted in Doganis, 2002).

In contrast, Southwest Airlines has been the most profitable of airline companies since
1973.

The widespread entrance of a new breed of low cost airlines beginning at the turn of the
century has accelerated the demand that full service carriers control costs. Many of these low
cost companies are able to eke out a consistent profit throughout all phases of the business cycle.

As a result, a shakeout of airlines is often occurring. Some airlines have declared
bankruptcy. Some argue that it would be far better for the industry as a whole if a wave of actual
closures were to reduce the number of "undead" airlines competing with healthy airlines while
being artificially protected from creditors via bankruptcy law. On the other hand, some have
pointed out that the reduction in capacity would be short lived given that there would be large
quantities of relatively new aircraft that bankruptcies would want to get rid of and would re-enter
the market either as increased fleets for the survivors or the basis of cheap planes for new
startups.

Where an airline has established an engineering base at an airport then there may be
considerable economic advantages in using that same airport as a preferred focus (or "hub") for
its scheduled flights.

Exercise 3. Put five key questions on the text.
Exercise 4. Give Ukrainian equivalents.

Fixed costs, operating costs, full-service airlines, to maintain air services, airport handling
services, sales distribution, catering, aviation insurance, tax collectors, to be untaxed, fees,



surcharges, to enforce government regulations, player, to collect and pass through fees and
revenues, return on capital employed, a new breed of low cost airlines, to accelerate the demand,
to eke out a consistent profit, bankruptcy law, a wave of actual closures, to reduce the number of
“undead” airlines, to be protect from creditors via bankruptcy law, to be short lived, to get rid
of.

Tema 9. Jlexcuko-rpamaTuyHi Bpasu no texkcry: «Microenvironment»
IMuTanHga aas CAMOKOHTPOJIIO:
1. BukoHaTH OrNIA10BE YUTAHHS TEKCTY 9

2. BukoHaHHs BIpaBu 3-6 3a TEMOKO

Exercise 1. Learn the following words and word combinations.
marketing environment — MapKETHHTOBE CEPEIOBUIIE

perspective —  Teopis; KOHIETIIisl

supplier — TMOCTa4aJIbHUK

machinery — BUpOOHWYE OONaHAHHS

management —  yHOpaBJHCHKUN BiALI
department

research department

development
department
purchasing department

operations department

accounting department
intermediary
reseller

impact

financial publics
hinder

obtain funds
level of credit
media publics

editorial

government publics
legislation
citizen-action publics
environmental group

minority group
public spotlight
local public
neighbourhood and
community

iHopmari THO-aHAI THIHHIA

BI AL

JOCT THULBKO-KOHCTPYKTOPChKHIA
BIALT

BIALT MaTePiabHO-TEXHIYHOTO
3a0e3nedeHHs
onepariiHuH
eKCILTyaTall
Oyxranrepis
MOCEPETHHUK
nocepenHuk ((ipma, mo
CIeIiai3yEThCS] HA OMTOBUX
MOCTABKaX Ta TOPTOBOMY
MOCEPEIHHLITBI )

BILJTUB

¢biHaHCOBI KOJIA

3aBaKaTH

3aJTy4aTH KOIITH

piBEHb OBIpU

KOHTAKTHA  ayJuTOpis
iHpopmari

penakiiiiHa cTaTTsi
JEep>KaBHUHI CEKTOP
3aKOHOZIaBCTBO
TPOMAJICHKI TPYITH BILUTHBY
,,3€IeH1”; rpyma 3aXHUCTY
HABKOJIUIIIHBOTO CEPEAOBHUINA
HaIllOHAJIbHA MEHIITHA

LIEHTP IPOMAJZICBKOI yBaru

MiCIIeBa CMLJILHOTA

MiCIIeBl Ta IPOMAJIChKI OpraHi3amii

BT, Bi I

3aco01B






company and editorials that may influence customers’ opinions. Government publics can affect
the company by passing legislation and laws that put restrictions on the company’s actions.
Citizen-action publics include environmental groups and minority groups and can question the
actions of a company and put them in the public spotlight. Local publics are neighbourhood and
community organizations and will also question a company’s impact on the local area and the
level of responsibility of their actions. The general public can affect the company as any change
in their attitude, whether positive or negative, can cause sales to go up or down because the
general public is often the company’s customer base. And finally, the internal publics include all
those who are employed within the company and deal with the organization and construction of
the company’s product.

Exercise 3. Answer the questions.

1. What does the market environment refer to? What are its elements? 2. What is
microenvironment and what company departments does it include? 3. Why are the suppliers of a
company an important aspect of the microenvironment? 4. What are marketing intermediaries?
5. What is the difference between resellers, physical distribution firms, marketing services
agencies, and financial intermediaries? 6. What are the types of customer markets? Describe
each of them. 7. What are competitors? 8. What is the final aspect of the microenvironment?
What groups does it include?

Exercise 4. Give Ukrainian equivalents.

Target customers, to influence the organization directly, research department, accounting
department, to have an impact on marketing decisions, to result in customer dissatisfaction; to
promote, sell, and distribute product; international market, market intermediary, to remain
competitive, level of credit, to put restrictions on the company’s actions, neighbourhood and
community organizations.

Exercise 5 .Give English equivalents.

BynyBati Ta miaTpUMyBaTH CTOCYHKH, pyIIiiHA CHJIa, MAapPKETHHTOBUH TOCEPETHHK,
KOHKYPEHT, VOPaBIIHCBKUH  BIAAIJ, BIAAIT — MaTeplaJbHO-TEXHIYHOTO  3a0e3MeueHHs,
MapKETHHIOBE AareHTCTBO, CKJAJ, MEPEBO3UTH MPOAYKT BIX MICI TOXOMKEHHS IO MICIT
NPU3HAYEHHS, PUHOK KIIEHTIB, CIIOKUBYMHA PHHOK, [EPXKaBHUH PHHOK, IOCATATH MLiJeH,
(biHaHCOBI KOJIa, KOHTAKTHA ayAUTOPIis 3ac001B 1H(pOpMaLii, MiKaBi CTATTI.

EXxercise 6. Put questions to the underlined words.

1. The microenvironment influences the organization directly. 2. Marketing intermediaries
refer to resellers, physical distribution firms, marketing services agencies, and financial
intermediaries. 3. Citizen-action publics include environmental groups and minority groups. 4.
The company should develop a strategic advantage over their competitors. 5. The market
environment consists of both the macroenvironment and the microenvironment.

Tema 10. Pooora 3 TekcroMm «Macroenvironment». CKJIAJaAHHA AHOTALIT
IMuTanHa A CAMOKOHTPOJIIO:
1. BuBuuTtH HOBI CJI0Ba 32 TEMOIO
2. CKJ1acTH aHOTALIIO IO TEKCTY

Exercise 1. Learn the following words and word combinations.

baby boomer — 0ebi-Oymep (nuTHHA, 1O
Haponuiacs mija 4ac



purchasing power
raw materials

MICJISIBOEHHOTO IeMOrpaghiyHOro
BHOYXY)

KyTiBEJIbHA CIIPOMOKHICTh
CHPOBHHA

intervention BTPYYaHHS

surgery Xipypris

nuclear missiles SIEPHI PaKeTH

update MTOHOBJTIOBATU

restriction OOMEKEHHS

subliminal 3BEPHEHHs], CIpsIMOBaHE Ha
message T ACBIAOMICTh

core beliefs — OCHOBHI IEPEKOHAHHS
secondary beliefs — BTOPUHHI NEPEKOHAHHS

Exercise 2. Read, translate and give the gist of text 10.

Text 10. Macroenvironment

The macro environment refers to all forces that are part of the larger society and affect the
microenvironment. It includes concepts such as demography, economy, natural forces,
technology, politics, and culture.

Demography refers to studying human populations in terms of size, density, location, age,
gender, race, and occupation. This is a very important factor to study for marketers and helps to
divide the population into market segments and target markets. An example of demography is
classifying groups of people according to the year they were born. These classifications can be
referred to as baby boomers, who are born between 1946 and 1964, generation X, who are born
between 1965 and 1976, and generation Y, who are born between 1977 and 1994. Each
classification has different characteristics. This can be beneficial to a marketer as they can decide
who their product would benefit most and tailor their marketing plan to attract that segment.
Demography covers many aspects that are important to marketers including family dynamics,
geographic shifts, and work force changes in any given area.

Another aspect of the macro-environment is the economic environment. This refers to the
purchasing power of potential customers and the ways in which people spend their money.

The natural environment is another important factor of the macro-environment. This
includes the natural resources that a company uses. The concern in this area is the increased
pollution, shortages of raw materials and increased governmental intervention. As raw materials
become scarcer, the ability to create a company’s product gets much harder. Also, pollution can
negatively affect a company’s reputation if a company is known for damaging the environment.
The last concern, government intervention can make it increasingly harder for a company to
fulfil their goals as requirements get stricter.

The technological environment is perhaps one of the fastest changing factors in the macro-
environment. This includes all developments from antibiotics and surgery to nuclear missiles and
chemical weapons to automobiles and credit cards. As these markets develop it can create new
markets and new uses for products. It also requires a company to update their own technology as
it becomes outdated.

The political environment includes all laws, government agencies, and groups that
influence or limit other organizations and individuals within a society. It is important for
marketers to be aware of these restrictions as they can be complex. Some products are regulated
by both state and federal laws. There are even restrictions for some products as to who the target
market may be, for example, cigarettes should not be marketed to younger children. There are
also many restrictions on subliminal messages and monopolies. As laws and regulations change
often, this is a very important aspect for a marketer to monitor.






Tema 13. JIlekcuko-rpamaTuyHi Bnpasu. (8, ¢.75 - 77,).
1. Bukxonartu nekcuko-rpamarnysi Bap. C. 75 Bup 1, ¢. 73 Bop 2,3, ¢. 74 Bup 4
2. BukoOHaTH rpaMaTU4YHY BIPaBY Ha MOBTOPEHHS MOJAIBHUX AieciiB ¢. 83 Bop 10

Tema 14. IlnucsmoBuii nepexaan tekcry «Modes of Transportation
in Logistics. Continued» (8,c. 88 - 90).
IIutaHHs 1711 CAMOKOHTPOJIIO:
1. 3pobutn nucbMoBHii epekan Tekcry (8,c. 88-89).
2. BukoHaTu BIpaBH MiCIs TEKCTY Ha MEpeBIpKy npouuTanol iHopopmari (8 ,c. 90).

Tema 15. Po6oTa 3 Tekctom «Classification of Incoterms» (8, ¢.103-106).
IMuTanHa A CAMOKOHTPOJIIO:

1. BUKOHATH OTJISIIOBE YUTAHHS TEKCTY, BUITUCATH HOBI cjioBa (8, ¢.103).
2. BUKOHaTH BIIpaBHU MICIS TEKCTY HAa MEPEBIPKY pO3yMiHHS 1[boro Tekcry (8, ¢.103).

Tema 16. Ilncemosuii nepexan tekery «Terms of Payment
in International Trade» (8, c.118-119).
IMuTanHa aast CAMOKOHTPOJIIO:
1. BukoHaTtu nmrcbMOBHiT nepeksan TekcTy (8, ¢.118).
2. BUKOHaTH BIIpaBHU MICIS TEKCTY HA MEPEBIPKY PO3yMiHHS L[bOro Tekery (8, ¢.120-121).
Tema 17. Ilucomosuii nepexkan tekcry: «Export Documents. Continued» (8, ¢.132).
IMuTanHga Aas CAMOKOHTPOJIIO:
1. BUKOHATH OTJISIIOBE YUTAHHS TEKCTY, BUITUCATH HOBI cjioBa (8, ¢.132).
2. BUKoHaTH BIIpaBHU MICJIsl TEKCTY HA NEPEBIPKY PO3yMiHHA LOTO TeKCTy (8, ¢.133 -134).
Tema 18. IIncemoBuii nepexkaan rekcry: «International Commercial Terms» (8, ¢.100-102).
IMuTanHga aas CAMOKOHTPOJIIO:
1. Bukonatu nmuceMoBHit iepekian tekcry (8, ¢.100 - 101).
2. BUKOHaTH BIIpaBH MICIIS TEKCTY HA NEPEBIPKY PO3yMiHHS 1[bOro Tekery (8, ¢.101-102).
Tema 19. JIekcuko-rpamaru4ni Bnpasu (8, ¢.103-106).

IMuTanHa aas CAMOKOHTPOJIIO:
1. BukoHatu nekcuko — rpamMatuddi Brpasu 1-5 (8, ¢.108-109).

Tema 20. [IncemoBuii nepexaan rekcry: «Methods of Payment» (8, c.115-116).
IMuTanHa aas CAMOKOHTPOJIIO:

1. BukoHatu muchMOBHi mepekian Tekcty (8, ¢.115).
2. BUKOHaTH BIIpaBHU MICIS TEKCTY HA NEPEBIPKY PO3yMiHHS 1[boro Tekcry (8, ¢.116-117).






